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The emphasis was on detector checkout and not yet on running
at high efficiency.
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Lost cooling water from C4
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« Had to power down the experiment Mon eve

 We were up again for store 3845 Tue morning
(but without 1/6 of the silicon, due to a failed PS)
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Access to the cathedral

* To repair the silicon PS we had to open the
detector on Wednesday

* Open, replace PS, close

* Took the opportunity to recover individual
muon channels
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L3 problem above S0E30

Not able to efficiently run with the newest trigger-list
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* 1nvestigating...
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